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QUESTION 1

When you set up a new 2-node switchless cluster running ONTAP 9.5, which IP subnet is used for the automatic IP
assignment on cluster ports? 

A. 10.10.0.0/16 

B. 10.0.0.0/8 

C. 169.254.0.0/16 

D. 192.168.1.0/24 

Correct Answer: B 

 

QUESTION 2

Starting with ONTAP 9.5, what is the maximum number of HA pairs that are supported when using a SAN cluster? 

A. 4 

B. 2 

C. 6 

D. 8 

Correct Answer: A 

 

QUESTION 3

After properly cabling the NetApp CN1610 cluster switches, you see that joining the second node to a cluster fails
because the node is not able to communicate with the other node. 

In this scenario, what is causing this problem? 

A. The cluster switches must be Cisco for more than two nodes in a cluster. 

B. The RCF file is not loaded properly. 

C. CN1610 is unsupported in newer ONTAP versions. 

D. The NTP server is not set. 

Correct Answer: B 

 

QUESTION 4

You are planning to install a new ONTAP system for a customer. 
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Which action should be performed before configuring the cluster interconnect switches? 

A. Use the Config Builder Tool to verify compatibility before configuring the switches. 

B. Download the software for the Fiber Channel switches before configuring them. 

C. Use the Inventory Collect Tool before configuring the switches. 

D. Confirm the IP address and configuration information before configuring the switch 

Correct Answer: D 

 

QUESTION 5

Select the Exhibit tab. 

Referring to the exhibit, a customer wants to migrate LIF lif1_iscsi to node cluster1-02 port e0d, but they receive an
error. 

What is the cause of this error? 

A. The LIF is not properly configured. 

B. The designation port is not available. 

C. This type of LIF cannot be migrated. 

D. The LIF does not have a failover group. 

Correct Answer: C 
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